C:# Divisione di un numero intero

Nome:
Risolvi ogni problema. Risposte
1) 406:3= 2) 696:3=
- 1.
2.
3.
3 90:2= 4) 54:2 = 4,
5.
6.
7.
5 696:8 = 6) 26:4 =
8.
9.
10.
7) 63:8= 8) 504:7 =
— - 11.
12.
9 298:5= 10) 52:2=
11) 605:7 = 12) 256:8 =
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Divisione di un numero intero Nome: Soluzioni

Risolvi ogni problema. Risposte

1) 406:3= 135r1 2) 696:3= 232 . 13511
2 232
3 45

3 90:2=_ 45 4 54:2=_ 27 4. 27
5, 87
6. 6r2
7. iri

5 696:8= 87 6) 26:4= 612
8 72
9. 9913
10. 26

7) 63.8= 717 8 5047= 72 L 8613
12, 32

9 298:5= 5913 10) 52:2= 26

11) 605:7= 8613 12) 256:8= 32

T P B e




